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環經期中考答案


考試日期： 04-16-2003

1. An economist is indifferent at that interest rate where the benefits just equal the costs (in current dollars).  The initial cost is $10 million; after that the dam generates an annual net benefit of $.3 million (electricity benefits of $1 million per year, minus operating costs and wilderness costs of $.2 million and $.5 million per year each).  So we have, 





  ,


and so we see that the project breaks even when the discount rate is 3%.

2. 

	
	可觀察
	無法觀察（假設行為）

	Direct evaluation
	1. market price

2. simulated market
	Contingent valuation

	Indirect evaluation
	1. Travel Cost Method

2. Hedonic Property value

3. Hedonic wage value

4. Avoidance expenditure
	Contingent valuation

Or

Contingent ranking


詳細解釋：

a. 用market price 來反映 Willingness to pay

b. simulated market：用創造的市場來估算市場價值

c. Travel Cost Method：用number of trips或attributes for site choice來估算

d. Hedonic Property value：估算環境品質對property value的影響

e. Hedonic wage value：估算health risk對wage的影響

f. Avoidance expenditure：估算為避免受損害所願花的成本/支出

g. Contingent valuation/ranking：查訪人們在假設情境下願付的價值/願收的賄賂。

Willingness to pay中包含:

Use value:

Non-use value:


Option value


Existence value


Bequest value


Stewardship value

3. 污染的分類

a. 累積(accumulative) v.s. 非累積(non-accumulative)

b. 地區性(local) v.s. 全球性 (global)

c. Point-Source v.s. Nonpoint-source

d. Continuous v.x episodic emission （經常性 v.s. 偶發性）

當然是以控制ambient quality為標的較恰當

4. 一定要畫階梯函數圖形才算分。

最適排放量＝200噸

TSC = TD +TAC = (100*25)+ (50*40+100*25)=7000

NB = |TD|－TAC = 50*(80-25)+50*25+50*10=4500

5. 主要步驟：

a. 詳細說明分析之標的

b. 將其中牽涉的input/output具體化、數量化

c. 估計各個input/output的社會成本與社會利益

e. 比較成本與利益

NB沒有scale的問題，而B/C可能scale很小但比值較大，故而較不適用。

分析標的：

a. physical projects:有直接公共產出者

b. regulatory projects:無直接公共產出者，以針對法規之分析為主。

_842379732

